@

a:‘.
T

v U= _ (0.0%007) - (0000790
R Upj

Reruay 70 DR.7HomY | @

) 632 ¢T3 b1l €3G -
HHELIRE #7 42, 637, &7, .75, M, G, bete

6-10z, 60
fROB. £3F 63>

V=05 . R-(34q

(=20 Kfa, ¥, =0.4
Po=00 the  Tws =357
rd ASk, Afuw, A Srom

Aﬁ(= m (5 -5)

. L
g' ‘/1,»\ ) m—’ U‘

W= o+ K U}5 = (0.0007532) +(@.q)/<9,0‘?9§?%%75‘32>
U= 0.04007 % = U

_(osw)
M= Qowa %) ~ (245 & |
i [~
S, = % v K Geg = (0es1) +(04) 00253 -0.08) <0459 5
: )
- ' -4
U, = Ue + X, Usy = (3641) (0422143 -36.61) = (1059 &

4) _
(00503) - (0.00075a) ~ 0197

U5, %o+ e Sog7= (0:3390) (03550145 - 025%) = 0,77 o
o= U+ X Ueg - (61.67) +(0ag5733177-6160)= (955 & -



G3L ' g)’
PROB. 3H{ vl

- A%ﬁ m(§ f> (s /<5X077 0459 % ) 872 KZ

:A{H: - "’5/ 27 140
Ca 1/0 & "Vl((/z U, > FRST Loy Fa.ﬁ .&34/4

CQ VV?(“; (/(> ({24f SXny ((0}\7 (3} (05\7 N
b el £ - | 352

; g b

A«iom 5 A{;{ : Aﬁh’ z (377'72 e T

Sy EI;TWA— 043‘1‘57/2

| ﬁ’,!f KOB.

(Q’@MS | R W R

7\/‘:% W\‘5
ﬁX'( = 0.5 nfu

L= 0.4 mfa 5<% (teuetsipie, + mysatc.
= $ENTROPC )

SRS TST) . (UAWE TR BN t : . . ¢
— LTI oo S S = p 2= &
1 :

©




fROB8, (-39

S

W =

| .
U, = Ug (fuf=0.3 4f2) = 0.0255 &
U = Ug = 24378 %

4 = {3 = 09066 ,4—5%2

0, o;
e
Uy ((9 0255 M’/@)

% =5 =0.9966 Bx |
I8 =07 mhy £ 5 =023, 55 0045 =3 AT Ax

To= Tt (0 ) |f B93C\

(.96 |
&ﬁﬁﬁ L

| Flﬂf(

i,éfw m((/z ()
i = - w0, ) 2 W@/{M

v S.-5¢ _ (03065) - (013@ |
XL' 7"3/ @Mf)— 0.13%) ~ = 07593

ul U +XL(1 (61.67) + (0.9553)(23197-6167) = 230 5
-(m@(zso 14378 ‘(‘L>

X@ 2.0% X




63

(0B 547

M A, Pt Kl T =0T
D= (50 kfa  lfevTRofc  PRocesS , Rl Ma
;fgﬁ\?gc‘f CHT PV =m T

W —P—,Cw{m)?“ %

& | [{5;37@ pic E«%ﬂm

(BT
27 ).
Eﬂ“ i P> . gm> #
m ", (/)7 "
’m(( >‘/&

E. (L{ K9X%>l/re@7

&>4<—(>//<




| f€oB, ¢.95

-0
I, = %/Wa) T =500°C
= 3%
”‘:P = 3f) £l
Z =g 7
- o T (l’\(‘%za>
, ""W\(’\m'l\ > l{T LAW
i Z = Wa ~ L\l /’zza Neseer ME

i Ws h - h2s

Che- haa =y Caias

NeEED W WD h ., hzs
Lho-193 % 5= 672t
Wy I{EMKO/’(C o 70 YD s
;{ =724 s, B=30 KFa

43

T bt =30 e, Se =0.943, 55=176%56 = 947 X

m



P

Z f/?,eoz

R T

‘ Kes=

tMt§=

é?f copn T

L72'4> @ﬁ@,

64247

0( Awf):”;’ZU\ /zzf)
(3 "22%)(35%3 -226‘0‘5>

= 0.5467

he + Xas 11#) - (25923) +(0.9469(133¢.1) = 2265

7

B



\‘CQ =
Y =1, P.~=m0»</a,m\7,=<03f’¢i’)

I f’ [ mfa

|y - m

WP G, W, T3 DIAGEAM

0= U, (a0 m) mm i Z.,L(lwn@ 236
m

1M= M (%%} = 0030%

;; ((mw %)

H’\ L\s = 23596 Zj

E{l "' ﬂ@{jf @Q3§V’-('ég—/

2 o i
(0 ™RD has Lllge $2 =5, =0.935% gk




00
fROB. &9 0T

1/‘”‘ F{M = (MFC( ﬁ@ {3 :070.(3 > {A/V
AT e {/‘Mop() { = 0,935Y (F{# %m

611; = 271154 ex

=2 (las k)

= K9
= (0.0309% Q. (177% —, _Kj_>

( 0.5)

(./:)q ==l 105 FL\}

fﬂﬁ 70 VIND THE ACTUAL EX(T TCMPE’KATJ{Eé

:;‘U\)E MustT - END baa
W= Chag - &)

A e _—

b - )G

thoa = 2955 “@‘); T4 :
AV . N




Q=0 &R

T =100 th, T =0°C )V
T:TIc

ZZ:ML{

D £, Wa

0

TENTROA (¢ EFFICIENCY -

| = (/\) - lef"A
T Pl ~ 5
"sz A *Z(Aza’&)

2.4

w
= I

has = (290.06) + (0.5¢)533.9% - a0ie ) TN

v.llz{ = 195 ‘%

f- 923

VON TaBLe A-11, Tas = H92% F

< BESTROPIC  RELATHN -

@) -
Pl R P{ (:%)E%



005, G0 o |

Mi‘/‘) e W[(AL'AI> 4Af£+f/éj
w='M(Aza'A1>
- Vn
s
(DEAL GA%:
I« g
i% B -
” i (B Ty eh) e b
| B L ZAL0 k) -
. ‘? W\ (0 ;L%‘? H-LXL?O L) 5
| 78%3
0= - (ter S 53397 - 200 ﬁ—)

w=-Bt L
703, €L




W 7;1,)’ e 5»&06
*4\;9«;4'1707—%
- & o
~Sr=9rH1 z
Tn,cw & WOC, 7;«1;6«! = 1R , Mew = 0] 79
Fo D W\f, 6*’4
Y THE (O0Ulg WER,
@ ngﬂ(/z, /I> ’M(ép—/l(—)

W =((y R/ -Jrz»mJ
g = @w 3500 m
WR The 57281,
B MCAZ’A() = V”’Afj
- 00 [,
| (ET ) 1o b

5 f’a‘ " T
- ©)
1%%2.71



6-(0
(kes. @%ﬁl(ﬁ ConT

24D Lad RR A SEEA FgD  (ROCEST

« g

f;m ZMe{e Zm,, b‘;/%

Gy = Wiy S s o = s~ Fo
7;~. SIS S P PR/
fyu = i, (52 -53) - ChT Ty
53 s Seg ¢ e CHE
(A Jvmsﬁ )

« (o & SR

1

\0Z %



